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A) + i (B) — (AN B)

00000 L(n)00000000000000GreemerJ0000 21.2000
0 I(n)000000000000000I(») 0000000000000 g0
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00000000P=0Lx---x[,0000 L,OO0OO 20000 pHl) =1+t
googd

(23.9) [(P) = (1) g (1) = (L tzy) -+ (1 + )
=eot+e(Ty, ...zt +eg(xy, ., x)tE + - Fen(wy, ..., m,)t"
000000u 0 I(n)D0O0000t0 »00000000Q € I(n)0000
Q=P U---UP,
OFelhn)D0D0ODODOODOOOOOOO

Q) = D i (P) = Y pi (PN Py) e

1<J
000000+¢0»,00000000000+¢00000000000000
(2.3.10) 17(Q) = 1o(Q) + pa (@)t + p2(Q)F + -+ + (@)

ur0 I(n)007,00000000000 40 I(n)007,0000000000
00 (231000000 Q=PO0000(23.9)0(23.10000000000000
10 e(ay,...,2,)0000000000000000

00 236 I(n)0000 p,OnO0O000O00O0O

000 PCR"CR'O0O0DOOu™P)=,(P)000000O00OOOO0O
00000000000
w0 k00000000000 Ealer000000

0 2.3.7a,b>000001(2)00 PO P=0(0,a] x[0,b)) 000000000
POOOOD40000000000000000000000

po(P)=4—-4=0, u(P)=2a+2b.
I={a/2} x[0,5)0000000000

po(PUT) = po(P) + po(l) = po(PNI)=0+1-2=—1,
pi(PUI) = (P) 4+ m(I) — m(PNI)=2a+2b+b=2a+ 3b.

rPuUI0000O0O0OOCOOOOOOOOO
P, =0([0,a/2] x [0,b]), Py=0([a/2,a] x [0,b])
o000 PUl=PURIIIOOOOOOOOOOOOOOOOO

po(PrU By) = pio(P1) + po(P2) — po(PiN ) =0+0—-1=—1,
ul(Plng):ul(Pl)—i—,ul(Pg)—,ul(PlﬂPg):a+2b—|—a+2b—b:2a+3b

000000000 I[(2)0000000000000000O00O0D0o0oOoooo
Ut w,pm DO0O00000o0ooono2120000000000040
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00 2.3.8 a,b,c>00000 I(3)00 PO Py=09([0,a] x [0,b] x [0,d)000
000000ROOOOO60000000O000

I'={a/2} x {b/2} x [0,c], F ={a/2} x[0,b] x[0,c]
D000P =PUI P,=FRUFO000P,RO0000P) (0<i,j<2)
0ooooo

g 2.3.9

Hl:{(3717---’37}1’07-“70)}7 HQ:{(0,...,O,$h+1,...,$n)}CR”
O000P,€I(H,)ODDDO (e=1,2)0000000000

pi(Prx Py) = > u(Pr)ps(Py).

r+s=1i
00 00000000000000000P €l/(H)ODODODOO0O 24,...,2p
DO00P,€ly(H,) 000000 zp4s,...,2, 00000000

Z NT(Pl)US(PQ)

r+s=t

::z:( 2: xﬁ“%J' E: Ti T,

rts=i \1<j1<-<jr<h h41<jrq1<<ji<n
- Y seemmmAxR)
1<j1<<ji<n
goooooooooooogd
gg

P=JP (Pel(H)), Q€Ily(H)

Oo0oon
,uz(p X Q) = Z NT(F)MS(Q)

r4+s=t

ggbbobuooooboobbbod

M@XQ%:M<Ogﬂ)XQ)=M<gu%X@>

= Z,ui(Pk X Q) — Z (i (B, X Q) N (Pry, X Q))

k k1<kso

+ Z pi((Pry X Q)N (P, X Q)N (Pry X Q)) £+

k:1 <k2 <k;3

= > 1w (Pps(@Q) = > il (Pe, N Pyy) X Q)

k r+s=i k1<k2

+ Z Hi((P/ﬂmPk’sz/%)xQ)j:'”

k1<ko<ks
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= Z Z ur(Pk)us(Q) - Z Z Nr(Plﬂ N PkQ)/’LS(Q)

k r4+s=i k1<ko r+s=i

+ Z Z por(Pry N Pry N Py ) s (Q) £ -+ -

k1<ko<ks r+s=i

= Z {ZMT(P]C)_ Z Z /er(Pk1mPk2)

r+s=i k1<ko r+s=i

+ Z PJT(PM N Py, ﬂPk3)I|Z"' }/"LS(Q)

k1<ko<ks

= > 1(P)ps(@Q)

r4+s=1

ggbobobogoobbogao
ERERN

goooo

000000000000
00 2.3.10 0000 (x)000000

I(n)0000 x00000P € Iy(n),dmP <n000 w(P)=0000000
0000000 0000000

00 23.11 (I(n)00000) 00000000 (00000000000
00000000000000 ceROODOOOOOODOOO00O0OO

p(P) = cun(P) (P € I(n)).

00 c=p(0,]MO0000000KOOOO 01”00, 1/k"O00C0O0OO
oo oooon

0, 1/k]" + (i1 /k, ... in/k)  (0<iy,... in <k—1)

gbbogbuogbbodbeddbbobbooboobboobuooobbo
gddpbbbboodooddpooooobobbbbbbbbbooougg
edddbobbboooobbbuoood

¢ = p([0,1]") = k" u((0, 1/K]")
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gobbobuogdgobbodo

(0. 1/K") = 1 = enn[0,1/K]")

gboodbogbooboobobooboob pOOD

p(P) = cun(P) (P € Ip(n))

0000000 000000P€el,(r)000000000000000000
Pel,(n)00000PF ->P(i—oo)000000

p(P) = lim pu(F;) = lim cpp(F;) = cpn(P).

©0000000P€l(r)000000000000000000 B, D; € Iy(n)
00000 B, C PC D;0 lim p,(D;) = lim p,(B;) 000000

cun(Bi) = p(Bi) < p(P) < p(Ds) = cpn(Dy).
(=) (=)

gbogobgoobobboboobooboobo

p(P) = lim cpun(B;) = cpun(P).
002311000000000000000000000000wk,00000
0000000000000000000000

02312 0000ROODO0O0O0OCQUOODOOOOUOODOORUOOORD
000QUIDDDO0ODDD0O0DDOOdImgRy=000000000000 RGO
oooboooobbbORpOODOOO0O fODOODOODOODOSDO ReODO
QUUIQUUUUUDDOOODODODOOODOOO f)=1000D0D0ODOf0ODOO
OL(l))oooonOo
n([a, b)) = f(b—a)

000obo00o0oobobo0o0n000b0bDb0O0O00Db0DDbD0O0O0ae<Lc<SbLdO
000 a,bye,d0000 [a,b]U]e,d] =[a,dDOO0O

n(la, 0] Ule, d]) +n([a, bl 0 [e, d]) = n([a, d]) +n(le, b)) = f(d —a) + f(b—c)

=f([d=b)+(b=a)+ f(b—c)=[fld=b)+ f(b—a)+ f(b—c)

= f(b—a)+ f(d = ¢) = n([a,0]) +n([c, d]).
00000040 I(1)D000000000 21200070 [(1)0000000
00000000000000»00000000040 [(1)00000000
00000000000000000000000000000000-70000

0000000y 00000000000000 00000000 I(n)O0D0OO
goboooodgobon
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ud 2.3.13 po, pta,---5 U [(n)DDTnDDDDDDDDDDDDDDDDDD

00 n=1000000233000000000000
fio, 141, -, 1, 0000000000 0000000000000I(n)00 T,
000000 w0000

H;y ={(x1,...,0,....2,)}

D0O0O0R'O000 H;00000,0 I(H;)00000000007,,000
00000000000000000 e,e1,...,600 €EROOOOD

—_

p(A) = S equ(A) (A€ I(n), AC H)

i

Il
=)

goboogogod ciDjDDDDDDDDDDuDTnDDDDDDDDDD ¢ U
j00000000000000D0O0O0AE€I(n)DO00 ;0000 ACH;000O
ERERE

n(A) = : citi(A)

0000000000
n—1
Wo=p= )
=0

00000K0 I(n)007,0000000000000000000000PE€
Io(n)0 dmP <n00000 POODOOOOOOOD H; 0000 #/(P)=0
00000000000K D I(p)007,00000000000000000
023110000 ¢, e ROODOOO W =cp, 000000000000000

ooooo
NJ:ZQ‘M-
i=0

00 po,pa,..., 4, 000000000000000

n

Zci,ui =0

=0

oooooo{o,...,0)}000000 ¢=00000000

z": cipt; =0
=1
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000000001 x{0}x---x{0}000000¢=00000000

n

Zczm =0

=2

0ooooOooo,1?000000 e,=0000000000000000
co=c=C=--=c¢,=0

0000000000 u, ..., 4, 0000000000
0000 po,pa,..., 0.0 I(n)00 7,000000000000000000
ooooon

In)0O0O00 puO
wlaP) =au(P)  (a=0, P € Ih(n))

gooobdbpedbb kOO0 O0OODLDO0ODO OO KODDODODOODOOO
ERERE

0 2.3.14 p 0 I(n)DDTnDDDDDDDDDDDDD kOooooooogoo
OO0 (0<k<n)OUOOceROODOOO p=cu, 000000

o0 00231300
u:Zci,ui (c; € R)
i=0
0000000000 a>0,Pely(n)0000

aﬂdP)=ﬁd@P%=§:cmA@P%=§:@a%AP)

O00D000¢#k000=0000000000000p=gu 0000



24

30 oogg

3.1 0000

R"000000000000000000000K"0000'K"00000
00000000000000K"0000000000000000000 1.1
00000000000000000000 [K"00000K 0 [K00000
K0O00000OR'0000000000000IL(n)cK"O I(n)cC KO0
oooo

R"00000 A0DD000000000O0O0O00

ConwvA=n{C|AcC,coODO }

OoopDA00ODOOO0ODOOOD ADOODOOODOUODOOUODOODOOO
goobooobooRrRrOboboo0oboboooboboboboboobobDon
ggbbobuooobbooooboboooobo

00 311 K"0000000D00000 Hawsdorf OO O OODOOODOOOO
R'00 z,y0000 2-y000O0KeK"OOO0OO hg:S"!—=RO

hi(u) = maxz - u (w e S™ 1)

0000KOOOODOOOO0
h:S"1 “ROOOOA:R* -RO

h(au) = ah(u)  (a >0, ue ")

0ooooOooos*'ooU0o0A0OO0O0OOODO0OOOOODOODOOOOOOOO
gogoooo

haz+y) <h(x)+hly)  (z,y R

gbodobooboobon
KeK'OwesS'OoOoooOo

H(K,u)={zeR" |z -u=hg(u)}

0000000000 000000000000000D00000000000000000
ugoboboboboobooboaboaod
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0000 KOOODOOO HK,»))DOOOOO
HK,u)” ={zeR" |z -u<hg(u)}
00000000 HK,w)-O0OOOOO

K= () H(Ku)"

ueSn—1

gooooo
K,L € K™ Minkowski [ [

K+L={zx+y|lzeK yel}

gogogogno
hiyr = hg + hr

gobbobuoooobbbuoooobn

0(K,L) = sup |hx(u)—hg(u)|
uesSn—1
Oo0o0ooooooooOoocc(s~hos~loooooooooooooo
O0000000000Ah:K"—=C(S"Y); K—he0OOOODODOODODOOODO
googod
E,00n)xR*"O000 SOn)xR*"O000000O0R"00O0O00O0O0O0O
O000pO [KMOO0O0D0O000ORO

w(gA) =p(A) (g€ E,, A€[K"])

O0000oD0OpD E, 0000000 K"0000 HausdorfOOODOOOOO
ooooo0oO0OoOpO0O0O0000O0O0O0OODOODOOOOOCOCOODOOOOOKYO
00000000 [K"|00000000000o00ooooooooooooo
ERERE

00 3.1.2 (00000000 GreoemerJO0O00) K"O000O00ODO [KMO
gobbooooobboboooon

00 O0OO0OO0OROOOOOOO0O0OO0O0OO0O0O0O0O0r=1000000021.2
00K'=L(1)000000000 [K]=7(1)00000000000

0012400 K"0000000000000000000000000000
000»0000000000000,-100000000000000000
00r,000000000000000000000x0K"0000000000
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¢x00000000000000000000000x000000000000
0000000K,,...,K,ek"0ay,...,an cROOOOO

(3.1.1) > aily, =0,

(3.1.2) Z aip(K;) =1

ooooboooobooboooobommbobObbOOD0O Ky, Kpek™O
a,...,0, EROODODODODODODHOR"OODOOOO0OO0 Ky CcintHTO0O0O0OO
ooooo@B1.1)0 g+ 000000000 OoDDOO

m
E O‘i]KZﬂH'*‘ =0
i=1

gogoboboogoaooo

m m
E ailg,nm =0, g ailg,np- = 0.
i1 i1

ggobood

> () = 3 (50 H) U (K A)

i=1

= Zam(Ki N H+) + Z%M(Ki NH™)— Zai#(Ki N H).

i=1 =1 i=1

gogdno
m
ZaiIKmH =0
i1

Un-100000000000

i=1

O00000000K,NH- =00000

m m
E aiIKzﬂH— = E CYz‘[KmH— =0
i=2 i=1

gdbobmbOoooon

Y ap(K;NH )= ayu(K;NH) =0

i=1 =2
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gogbobobooodn

0ooo
0031100 K"000000000 Hausdorf 0000000000000
0000000000 Hy, H,,...00000 K, C intH} O

o) k
Ky =()H} = lim (| Hf
j=1 J=1

k—o00

gooobuoobobb H=H,H,,... 000000000

» apu(K;NHf M- NHf) =1

i=1

gobbpedodooboon

m m k;
ZaiN(Ki NK;) = ZOQ‘M (KZ- N kh_)m ﬂ Hj)
=1 i=1 ;

=1
m k
— i + | —
—leIEO aiu(KiﬂﬂHj>—1
i=1 j=1
oooooo?
Z O‘i[KimHjm---mH;r =0

i=1
gobooogogn

m

m

Zai]K’mKl = lim E :O‘iIKmH+mmmH+ = 0.
j—00 1 j

i=1

=1

00000 K, Ks,... 000000000

Z Oéi[KzﬂKlﬁ---ﬁKm = O, ZO&Z,U(KZ N Kl n---N Km) =1.

i=1 =1

00000 K,NnK,N---NK,=K,N---NK, 000000

(Z ai> ]Klﬁ-"ﬂKm = O, <Z O./i> M(Kl N---N Km) =1.
i=1 =1

goboobbbooodobbbuoddebbboooobbodao

00 313 K,LeK"OOOD K+LeKrOOoooooODOO

J00000000000000000000000 21.20000000000000000
gogbobobooboaoboobooboobobbobobooboabooan
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3.2 Euler

00 321 K,LKULOR'OOOUOODOOOOze KOyeLOOOOO 7y
UOKNnLOOOOoOOooOoOKnLOODOODOOooDOo

00 KULOODODOOOOzyCcKULODOOOOOzyNnKO xO0OOO7y
00000000000000 ze KOOOOAmNnK=2z0000000000
»eL00000002¢L00000000000LO000000OO0O0-000
O000000 LO000000000000000relintzy > % ¢ LOOODO
00z ezyCc KULODDOO e KOOODOOOOOOOzzC e Cc K OOO 2
0000000000000 2€L0000 e KNLO00000750 KNL
00000

00 3.22 (Euler0000) K00 E, 000000 w0000 O0O0OOO
gogbobobogoobobod

WE) =1 (K €K™,

o0 wp:K"—RO
pE) =1 (Kek")
OO00000O0D0A B AuBeKkKrdnoOoOoO 32100 AnBeKkKrOD0OO
oooooooo

uAUB) =1,
w(A) +u(B) —p(ANB)=141—-1=0

O000OpOKrO000000000 31200 p0[KMO000O0O0OO0OO
O0oooooooOo KMooood wyoooo

PelK"|0PCR(k<n)0OOOOOOP€[KOOO0u(P),p k(P)0D
000000000

p=Jn (Pekh

0000000000000000 w,p000 100000000000

m

uo(P) = (=17 > ug(Pun---N PRy
7j=1 1< <1j

=Y (=17 Y ug(Py 0N Py = pg(P)

]:1 i1<"'<ij
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oooD0pgO0nO0000 OOOO0OO0O00O00000000000000 Euler
UwpeDOOOoooooog

O [K')D0000 2310 x000000000000000000000
000000 K'|0oo00ooo0oooooogKkMo0 kO DoD0Ooooo
gogbgoobbbdudliiibbobooodgbbobbooodgbo

o0 3230 L0000 0000 L000000000O0LO000O0DLOODOOO
00 SF(L)0000000000ODO00O0ODO0O0000 LoooooO Val(L)Oo
SF(L)ODOODO0D0000O0O0O0OO0O0o0ooooooooo

00 SF(L)0D0DD000O0TO0000
pA) =T(s)  (Ael)

00000LO0000000w00000A4,BeLO000 (1.26)0 70000
00
(AU B) =T(Iaug) = T(Ia + I — Lung) = T(14) + T(Ig) — T(Ianp)
= u(A) + u(B) — p(AN B)

gobooboobobbopb LODOODOODOOODDOLOODOO
f=Y als (s €R, A €L)
i=1

gbooorooobood

I(f)=T (Z ai%) =Y aT(Ix) =) aip(A) = /fdﬂ

i=1 i=1 i=1
goobooog

00 L0000 0000 0000 LOOOOO0OOOSF(L)ODOOODOO
000000000000 LO0000O 0000000000000 Val(L)0o
SF(L)ODO0D0D000000oooooooood

00 324 K"0000 fO0O00O0p,00OCOODOOO

/fduoz/(/f(xl,...,xn)duo(:cl,...,xn1)) dyio ()

ooooon
T R = R (x1,...,2,) — x,

gogbbbo-000000 -, 0000000000000 0O0O0O0O0O0

o(K) = / io(K O w (@)dpo(e) (K € [K7)).
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o0 KekKkroooo

/ (/ I(zy, ... zn)dpe(zy, ... ,$n_1)) dpo(zy)

_ / (/ Tt (B> Z )i, . ,xn_1)> o)
— [l 07 o) = [ L))

— ho(ma(K)) =1 = () = [ Ty

oooooooookrgboooobbo0oobboooo krogoD foOOOO

/fd,uoz/(/f(xl,...,xn)duo(xl,...,xn1)) dpio ()

O0000O0OK e [K"M00000 Ix000000000OO0O0OOOODOODOOODOO
MO(K):/IKCZM():/(/IK(xl,...,xn)duo(xl,...,xn_1)> dﬂo(.ﬁﬂn)

— [ ([ e duate) = [t 07 et

00 3.25 n0000000POR00000000O00OO0OPe[KMDOOODODO
goooooood

Ho(9P) = 1 = (~1)".

00 dmP=nUO000PcCR'O0ODO0O0OOOOOn000000O000O
UidOn=10000

po(OP) = po(POOO0O)=2=1— (=11

n>10000n—10000000000000000000000 3.2400
(+) udaP)Zl/ﬂdaPﬂﬂEWxDWm@J

0000z e ROOOO po(dPN7Y(x))00000000z € m,(P)0O0 z ¢
d(m,(P)000000000000

Ho(OP N1, (@) = po(B(P Ny () = 1 — (~1)™ .
red(m(P)0O0D0OIPNT Y (z)=PNnr (z) ek 0000

po(OP Nt (x)) = 1.
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r¢m,(P)O0O0O0OO0O
po(OP Nt (x)) = 0.

m(P)eK'000 7P =[e,)0000000000000000000

(0 (x < a),
1 (z = a),
po(OP N () =< 1= (=)' (a<z<b),
1 (z =),
0 (b < x)

D00D0000K' 0000000000
po(@P N (@) = (1= (=1)" oy (2) + (=1)" oy (2) + (=1)" gy (2).

00000000

:/{(1—(—1)n_1)f[a76]+(—1)n_1]{a}—I—(—l)n_l]{b}}d,uo
=1-CE)" D+ ED)" (D) =1 (-
SDDDDDDLCP(S)DDDDDDDDDDDDDDDDDDDDDDDD
0000000000 LOoOoOooOoooO sSsoooooon B(L)DDDD

(3.2.3) Inn=Iannp = La— Luls

000000000000000L00000000000000000000
0000000000000000000000Z(L)0000(1.25)0(1.2.6)0
(32.3)0000000 CeB(L)ODOODO IoeZ(L)000000

00 3.26 0 L00000000 w0 B(L)ODOODOODOOODOOODODOO

00 0O0124000p0Z(L)00000000O0O

W) = / Iedp  (C € B(L))

0000 x0 B(L)00000000000O0O0OO (1.27)0000000 B(L)
00000000

POR‘ODO KOODODODODOOOOODOOEODODDODOODOOOOO ACcRrO
O000 PCcAOOD0OODODAODODOOODO POOODO POOOOOOOOO
relintPO00OOrelintP=P—0oP00O00O0O0O
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o0 327 POR'O0O(00O00OD0ODOODODOOOOOODOODO
po(relint P) = (—1)".
ugg 00325000

po(relint P) = pig(P) — po(9P) = 1 — (1 = (=1)F) = (=1

gbooooboboobobobobobopPO0UOOOOOLOOFRFODODOD
gooogboufrFbO pPOODOODODOO

(1) FOOOOOOOOOO

(2) U relint@ = P,
QeF
(3) Q,Q € F,Q# Q' 000 0relint@ Nrelint@’ = 0.

goggobbbbbouooooooobbbbuoooooobbobobboboodad
U000 Euer 00 o0 OOOo0ooonoooooon

00 3.2.8 (Euler-Schlafli-Poincaré 000 ) FOO OO pPOODOOO

fi=#{Q e F|dm@Q =i}

gogobobooooobooboooo

00 DOOoOooood
P:UrelintQ
QEF
0000000Db0o0bO0oDoobDo0obDoooono 3270

po(P) = po(relint@) = Y (=)@ =3 "(=1)'f;.

QeF QEF i

3.3 Uobuoogoooonod

oooooooooRrRrOOOOO0ODO0O0 OOOO0oooO p,d nO0O Lebesgue
goboooobooooboobobobbo<k<nbobOoOobD O OODOODOO
Grassmann 00 00000000 D0O0OO0O0OO0OO0OOOOOOOOO200000
oo mooobbbogoobbboooobboogon
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feROOOOOOOO
xcosf +ysinf =0

0000 R0000 , 00000000 ACcR*0001,000000000
A, 0000A00O0O0DOO A, 0000000000002300000000
001000000 w, 00000000 w(Al,)D000OO0O0OOOO

00 331 Pely(2)00000000O0O00O0O0O

/Oﬂu1<P‘lg)d9:2ﬂl(P)’
00 ROOOODe>000000 L,0000P=I1,xLO0O00O0O
p1(Pli,) = al sinf| + b| cos 0|
gooooooobon

/ p1(Ply,)do = / {a| sin @] + b| cos|}dh = (a + b)/ | sin 6|d6
0 0 0
=2(a+0b) =2u,(P).

0033.10000R000000000000000O000O00O0OO POOO
gbogboobbuodbuobobobbobbobbobobooboobobo
gobogobobooboboooboooboobbuooobooobboonbo

00 3.3.2 K,L,KULeK20000(K|,)n(L|,)=(KNL), 000000

RN K|le - (KﬂL)heD L’le - (KQL)’%DD (K|l¢9)m(L|le) - (KHL)lle 0o
000000000000000000 z€ (K|,,)N(L|,) 000000 z€ KO
yeLOOOO 2=z, =y, 0000000000000007g|, ={-10000
00000000 3.2100 2 € 7yn(KNL) 000000000 2 = 2|, € (KNL)|,
0O0O00(K],)N(L),) C (KNL)|, 000000000 (K|,)N(L],) = (KAL),
gooooo

00 3.3.3 K20000 B0
BK) = / m(K|)d0 (K € K?)
0

00000000030 K200 E, 0000000000
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00 K,L,KULeK>O000
ﬁmxu»:[fmuxummme:[fm«mewmmwe
=i[¥m«Km»+m«um>—m«meummnde

(00 33.200)
:A‘mmmun+um@m»—m«KmLm»hw
— B(K) + B(L) - B(K N L)
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